LB
M =YD FOME HASH(SYHLLM/5Y - 52)
Sl ABIEN BF 29 (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES = T BlRE2
2 2 o 1,229,530 1,269,422 239,892
BN FOME BHUSH(SPHYLLN/5Y - 5E) 319,350 322,050 ~2,700
NSIEO #E 29 269,350 272,050 ~2,700
oy X 188,110 188,050 60
202 o1t 2,160 2,100 60
01 =0l 2,160 2,100 60
=0 &t 2,160 2,100 60
OF2 MXA WXOZ 60,0008 «5% *33] 900
OAE 5|0 & A 20,0002 *9% *73] 1,260
301 YHBAS 185,950 185,950 0
05 ST -0% - HHHSEYZ 183,650 183,650 0
=0 & 183,650 183,650 0
O0lE Iy 200,000 *55% +122 132,000
O0lZ &0{2 200,000 ¥55% *23] 22,000
OOIZ 5lo &A4T 20,0008 *55% +243] 26,400
ouy gstl 25,0002 %652 +23] 3,250
09 BAAHIEAE 2,300 2,300 0
=0 &t 2,300 2,300 0
O2AZ S, ML S B4 24
10,0008 *552 +23] 1,100
ONBET A S BHT 24
10,0002 *20% *63] 1,200
X2 SBHA (3015010 4) 60,000 84,000 24,000
201 Yur2YHl 8,500 39,000 £30,500
01 At el 7,200 9,000 A1,800
=0 &t 7,200 9,000 A1,800
OBNDA 29 7,000
- YAz 30,0002 *3A] 2+*403] 3,600
-9 5 287 2,400,0002! *14] 2,400
—FEHEBINH B2 HALASETY
100,000 * 103l 1,000
OllEE NEYAS 2Y(ADERY)
100,0002! x23] 200
02 ZZ2g| 1,300 0 1,300
=0 & 1,300 0 1,300
onlgg NELAS 2H(REH)
1,6252 ¥402| Ef *43| 52 1,300
206 Tl 1,400 0 1,400
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SN gy
Ha: HYN FOUME HASH(SYHLSL/5Y - 5F)
ool AIRIEC BE 29 CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
01 Ml 1,400 0 1,400
=04 1,400 0 1,400
Olt2E NSYAS 2Y(AETY)
1,400,000 *14! 1,400
401 ANEHILRHY 48,000 38,000 10,000
01 A&l 48,000 38,000 10,000
=0 48,000 38,000 10,000
ootege EXE KA 2,500,008 100} 25,000
OBZE 5408 M= L &%
17,000,000 *14! 17,000
OENBAMWH 22 A Y
1,000,0002 *63] 6,000
405 THaHFE S 2,100 0 2,100
01 XMUSEHSH 2,100 0 2,100
=0 2,100 0 2,100
ODt2E UESYASH(LATY|)
700,0002 *3CH 2,100
ZOIHOOL 2 5,800 0 5,800
201 L2l 5,000 0 5,000
01 At 22t 5,000 0 5,000
=04 5,000 0 5,000
OB ARG 4 100,008 *20% «23| 4,000
OFQIBOI0I4 AASS(HMES RIZY)
1,000,0002 *14] 1,000
301 LsBAD 800 0 800
09 BAAHIEAS 800 0 800
=0 800 0 800
OFOIBO0I4 BN S22I| A2
20,0002 ¥20% *23| 800
ZOA L MEH 2Y 15,440 0 15,440
201 sty 9,520 0 9,520
01 At 2reltl 9,520 0 9,520
=004 9,520 0 9,520
OFRINXSY slo2g
20,0001 +28% * 122 6,720
OFUNXHME T2 edag
10,0002 * 122 1,200
OFQURIME BAT2IY 29
400,0002! +13] 400
OFOIRIIME Ler4+SHl 100,002 * 122 1,200
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SH: g
A wes SIS (SYHYLM/5Y - 5E)
Sl SeIIBES U WY (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OZS0IS A2 IM2)| ZA
25,0002 *200m 25,000
O=C0lES BT XA 25,000,0002 14! 25,000
OHSOS DYZ HZTA 150,000 200 30,000
ONSOIS 52 ZHTAF  200,0002 +100m 20,000
OZJI0IS ALEF TAF 125,000 200 25,000
O&H0IS Bi+2 SXZA 200,0002 *100m 20,000
OUS0S B2 SXIZ A 100,000 *200m 20,000
OAS0lE S2=HZA 100,000 *200m 20,000
OUWSHX FHSZFY 2 G2&X
30,000,000 *14! 30,000
ORMOIS &AL U 42 FUITA
400,000 *50m 20,000
ONSOIE 9L FE2 I B
50,0002 *200m 30,000
OBIHOIE S2FHIZAL 100,000 *200m 20,000
OZ®0lZ HLZAHZAL 1000002 *200m 20,000
Ow2iote SHZ=HZ A 100,000 *100m 10,000
OOIDIOIS ABHA HHIZ A 2300002 *100m 23,000
ORE2IYe sAB22 HHLXZA
100, 0002 +200m 20,000
OBOH0IS B A XAY 25,000,008 14! 25,000
OStDlE HUTHBA 50,0002 *400n 20,000
OBLOIZ BXMB4  15,000,0008 14! 15,000
ONTIDIE BH2 ZA 50,0002 *100m 15,000
ORUNES S2HEZA 500, 000 *40n 20,000
ONSLZH HEZNAZ THTA
100,000 * 150m 15,000
OEE ¥ 3HA0I2 42 U2 A
500, 000 *50m 25,000
OO0l0I0tS 2 292 =2 ZHIS At
500, 000 *50n 25,000
OPEOIZ S2FUIZA 23,0008 *100m 23,000
OBUSLT BRDH ZA
30,0002 *1,000m 30,000
O3S0t2 ALEH ZTAF 125,000 *200m 25,000
082 2 ¥ S2HUIZA
106, 0002 *200m 21,200
OMY I LEEI| cotval |
4,000,0002! *5CH 20,000
HHSABY () (OIEH/IIEH) 137,980 133,572 4,408
oz 2yl 35,800 34,772 1,028
[
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SN H
Hal: ™2 AL (YR (IIEH/IIE)
el ol 2yl (B9 @2
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
oz 2| 35,800 34,772 1,028
101 oIyl 35,800 34,772 1,028
01 =24 35,800 3,772 1,028
=0 & 35,800 34,772 1,028
OAZe 224
10,2992 152 #17Al 24122 31,515
OANZE 2R+ (MEHIY)
10,2009 22 #4A| 2F+522 4,285
Jl23&dl 102, 180 98,800 3,380
SJEET 102,180 98,800 3,380
201 Yur2YHl 47,000 47,000 0
01 At 2r2ltl 24,000 24,000 0
=0 & 24,000 24,000 0
OYREZ S04
8,0002 158 x4 #12% 5,760
OE28 #4% M= 100,000 *153! 1,500
ONREE 7Y 300,000 *122 3,600
OSAEX 2l (M)
22,000 %108 A 128 2,640
OSAEX PHI(B5) 21,0008 x4 Xj+128 1,008
OSAEX PHI(A3) 27,0008 14 Xj+128 324
OBABE 7YYl 116,8002! » 102 1,168
OSAIl €4 Pl 300,000 «2CH *63] 3,600
OZBEI EH 2| 240,000 *103] 2,400
OFIIAHHY 242 100,000 *123] 1,200
OASUMEY +42 400,0002! 23] 800
02 ISl 23,000 23,000 0
=0l 4t 23,000 23,000 0
OHIINBR 800,000 128 9,600
ONB+E NEBE 80,0002 *128 960
ORER (YL, S) 250,000 *122 3,000
OFst 2 S22 100,000 128 1,200
OBEXZY +HRNHI 400,0002! 53] 2,000
Oslolal S&&Hl +2l8l  540,0002 x23l 1,080
OFA 72 24| 1,000,0008 *33] 3,000
OBEXY ARY| 80,0002 * 122 2,160
202 Oft 43,200 40,500 2,700
02 2ol 43,200 40,500 2,700
=0 43,200 40,500 2,700
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